C. Quintans, coral-weekly, 28/05/2021

2D detector efficiencies from 2018 data

Period P08, processed in the t8 conditions

Data processed by Chia-Yu Hsieh, at Frontera

No smoothing applied yet

Average efficiency per plane computed as arithmetic mean of the bins efficiencies
New code of U1l is used (affects the plots axes, for rotated planes)

~10% of full period statistics was processed, representative of the whole period

Comparisons done with same plane, P05 processed in the conditions of t1 (top-right plots)
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Drift detectors performance

From Yann Bedfer’s AnalizeDCs
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From DCO5 planes, there was a problem in the phast U1l step, causing
merging problem of the files. Some results for X and Y planes, not for U and V
(this step must be repeated for all planes of DC0O5)



Problem of merging of files. U1l step must be repeated.
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Plane DC0O5Y2 was broken.
There is a problem of merging of files for DCO5Y1. U1l step to be repeated.
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DCs: Comparison with single-plane space resolution in detectors.dat (micron)
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Det.dat
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But are the detectors.dat values for DCs having an impact in DY RD reconstruction?



What is happening with track resolution when probing Rich Wall??
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